Tj My Car Gymkhana SeriesRanking

Rar [ = S 2 No.1 No.2 No.3 No.4 No.5 No.6 No.T Total
RIS UPSTIH 1w JOSHehf T 35 36 [36 [36 [36 | 176
2188 BA [PAEN=REE 5204 10 25 |35 |25 |25 |25 [10 | 155
| 3[FH  #  |meRXT@ )T v—IJREAM 5 [35 10 |15 65
| 4|EEF —f  [JEAISNRX 26 [16 [16 5 60
S|/m# A [EVOVI 10 15 [25 50
| 6[00x01 it [180sxBY 5110 515 5 30
| 7[BUEB ¥.Z [HOT-ROAD 25 25
8lBP & [V TLvHSTI 5 10 5 20
9|X& #E DXL SPMA—DS5JHF— 15 5
[10[AEE Br [RELIIr—>T5 -8 15 5
| 1|e8E B | —& AR/ T — 15 5
@K TR [FEdrmsd JILEY 1015 5
3[HFE e [BFZATT—GRTIR 5 515 5
4B BA [EHFEILBWRX 515 5 5
5[ H533Y )1 J[GRTJRXSTAR _FIVE 5 5 0
6[MIE F— |grPR 5 5
NP8 BE [ETPUN\NSIG—TTHZRIC ! ] 5 5
18[HB B |[SUY—TR/N\F 5 5
1OlFS %88 [ER34ZAD1>T1 5 5
1[PA  #EH  [TUCKINO—RRS—RF 515135 15 |35 95
| 2| F% 5 NDO—FRY— 5 |15 |25 25 15 85
[ 5 [O-—FRY—NRUIDAS 25 2b [3b 85
4PN B NAO—FRY— 10 35 |35 80
S[FH HF [Ri78POO0—FRY— 5 15 25 45
| 6[ i FB |[DXLO—FRI—ABic kS 35 36
EEEE NDO—RRH—1500 25 25
| 8l B5&  [BivIT kSEIRY — 5110 10 25
9|8 EZ |DrF-PBgE0—RRY— 15 5
10|87 B [DLH>sATF —LDRITENC 5156 5 5
M[BEZBH5  |Rising West NDO—R25— 10 10
[ 2[5 B— [RUXAZvINDO—FRY— 5156 0
3[HFX & — |DL Bo=AF—LDEND 5156 0
4|78f &5 BH9D0— Y —RF 5 5
[ Bo=hATF—LDONDO—FRY— 5 5
6lhE 2 I T UNC 5 5
| 1[W2F 2T  |DXLYOM SWIFT w/0 15 [35 2b |36 [3b | 145
2|mgE ZA  [J—2EMR-S 35 |25 [35 95
3[RB_=#  |[F35986%STAR _FIVE 15 15 [ 10 40
| A[F% 1E2  [FIGREYE WD 35 35
| bIE 2 |JILS=>—J3 35 35
| 68 Fx |FHMBESKEDBRZ 5 25 30
[ 7[R 1FB [YHe PERSLV\REE 17O 25 25
[ 8[A WK [BRIkiBRssLBYEYD 25 25
| 0|58 71 [ATEREHFED86 25 25
1opagE &2 |[Z2bLYIv—86 15 15
[T AW [RX-8 10 10
R EE  [BAEANB 5 5
3| EF HBA [ZTIPUR=Y 5 5
4P| #2A0  [SERIZc32s 5 5
SARMIME |FERZSE D1 UN 5 5
1S A% [3JJLH1.6C 35 |36 2b |3b |35 65
2|1=8 82 |[DXLD—VAFFRR=TJ7 15 [25 |25 |15 |15 |25 |15 35
3EBE BE [AVHL—DXUNIBT=A 25 2b [36 [15 [25 25
| 4[FE /B [2ORRICADIO6 5 35 [35 75
| b[88 =& Let’s play VEZEL 1 110 [10 | 5 |10 50
6|  BE [NIDBISEFit 10 115 1015 40
[ T[E0B 5 [FEFEEBPOE—F 10 10
[ B[ Jte8 [Jrwrs 5 5
| O[EUH  #  |J<pvb X1/9 5 5
11%H F BEY/)N\NLEZTII60R—/N=2T'JVbK 16 [35 [ 16 2b [ 16 [3b | 140
218D 7P [PhEN!HTF—J 5 35 |35 [3b |26 | 135
3[E B2 [EKEPHTF—/ 5 [25 26 [ b 60
41 WS [ESRGHRET &4 N-ONE 10 [10 Blb5]5 45
| b[ed 2[NS HES I T~ 35 35
6l ME [FAFECWASE>D AN 35 35
R BP [N ERAERREPT T T~ 5 25 30
| 8]ZEh &= [CAThTLATS~+ 10 5 115 30
RIESE] B eoNS—AZ—1 25 25
[T0[FA_#8 |aF ETJE&DCARAZL 10 [10 [ 20
g = AZXF* Fro 10 5 15
| 2| ZREBE 2NV 515 10
1EEE0S  [AT105%2D ? LbABE 25 35 |35 95
2|RE &2 |[YHTA~NY 35 35 25 95
3[R EB F82 M4 5 [35 26 [ b 70
| AKX 5% |CRRESAST@mA—X 35 [25 60
[ BIBIT 7 [\ PTLEANSIL—FTIP4RS 26 [15 [10 5 55
6[FE B [IL/—65—mR 35 15 50
| T[UX B— [o0=AT25 25 15 5 45
8[ER ER DB RH—D 15 15 30
I S8 |TeAREIL—F5vh 25 5 30
0[=R BR [TF3—Y 10 10 20
| 11| #A% PE— |4106M@DS3 10 110 20
2128 #im  [P/VULRS% LTS 15 15
3[EABIER _ |[MIN_F56 5156 10
NZACIIE - =) 5 5
SlEE =35 [NA-20b—F Uk 5 5
| 18 F88  |EPYEO—FRY— 35 |35 |35 |35 [3b |16 |36 | 225
2|[am_ BT |[OClcphAINTEERTIN 15 [15 |15 |15 |25 |35 [10 | 130
355 B [O—H—2-Fzzz2>E 1 2b [25 [25 [10 26 [165 | 125
4T BF L —XF—-X 25 25
| 5|EB B |CVTCiER®S4 25 25
6|88 & Let’s play VEZEL 10 |10 20
TR REE | RTINRRN—Y 5 5
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